CS 111 – Section 6.1 Reading Questions

Reflection 1 What is printed by the code on page 242? Make sure you understand why.






Reflection 2 Write a statement to replace all occurrences of lol in a text with laughing out loud.





Reflection 3 Run the following code and write the results here
print('for every word: \n\t increment counter.')






Reflection 4 What answer does the wordCount1 function give in the example above? Is this the correct answer? If not, why not?







Reflection 5 What answer does the wordCount3 function give in the example above?






Reflection 6 What happens if we do not initialize prevCharacter before the loop on page 246? Why did we initialize prevCharacter to a space? Does its initial value matter?







[bookmark: _GoBack]Reflection 7 In wordCount5 what is the purpose of the red if-statement?
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